	P1V1=P2V2
	[image: image1.png]vi_ve
=72




	
[image: image2.png]F1_F2
=72





	
[image: image3.png]FLV1_P2.V2
)





	P V  =  n R T


	R   =  8.31 L. kPa/ K.mol
	K = oC + 273
	


Ideal gases review 
Name_____________________________________ Period______ Date _______


1. A gas with a volume of 1.25 L   at a pressure of 151 kPa is allowed to expand to a volume of 3.50 L. What is the pressure in the container if the temperature remains constant?

2. At 125oC If a sample of a gas occupies 3.25 L. What will its volume be at 55oC if the pressure does not change?

3. The pressure in a plastic container is 108 kPa at 41 oC. What is pressure when the temperature drops to 22 oC.? Assume the volume is constant.

4. The pressure in a car tire is 200 KPa at 31 oC. After a long drive, the pressure is 235kPa. What is the temperature of the air in the tire? Assume that volume is constant.

5. A gas at 185 kPa and 25 oC has an initial volume of 1.20 L. The pressure of the gas increases to 615 kPa as the Temp is raised to 125 oC. What is the new volume?

6. A 5.20 Liters air sample has a pressure of 110 kPa at a Temperature of -51 oC. If the Temp is raised to 110 oC and the Volume expand to 7.10 L. What the new pressure be?

7. Determine the volume occupied by 0.582 mol of a gas at 15 oC if the pressure is 81.8 kPa.

8. How many moles of helium gas fill a 6.45 L  balloon at a pressure of 105 kPa and a Temp of 278 K?

9. What is the volume occupied by 1.24 mol of a gas at 35 oC if the pressure is 96.2 kPa?

10. What volume will 12.0 g of oxygen gas occupy at 25 oC  and a pressure of 52.7 kPa?

11. If 4.50 grams of methane gas ( CH4)  is in a 2.0 L container at 35 oC, what is the pressure in the container?

12. A helium filled weather balloon  has a volume of 2.4 x 102  L at 99 kPa pressure and a temp of 0 oC. What is the mass of helium in the balloon?

13. What pressure is exerted by 0.45 mol of a gas at 25 oC if the gas is in a 0.65 Liters container?

14. A balloon contains 20.0 L of helium gas at 103 kPa. What is the volume of the helium when the balloon rises to an altitude where the pressure is only 35.0 kPa?  Assume that the temperature remains constant. 
15. A given mass of air has a volume of 6.50 Liters at 111 kPa. What volume will it occupy at 27.0 kPa if the temperature does not change?

16. The gas in a closed container has a pressure of 300 kPa at 35 oC. What will the pressure be if the temperature is lowered to -151 oC?

17. A balloon inflated in a room at 26°C has a volume of 4.10 L. The balloon is then heated to a temperature of 60°C. What is the new volume if the pressure remains constant?

18. A balloon contains 30.0 L of helium gas at 103 kPa. What is the volume of the helium when the balloon rises to an altitude where the pressure is only 25.0 kPa? (Assume that the temperature remains constant.)

19. A given mass of air has a volume of 6.00 Liters at 101 kPa. What volume will it occupy at 25.0 kPa if the temperature does not change?

20. The gas in a closed container has a pressure of 300 kPa at 30 oC. What will the pressure be if the temperature is lowered to -172 oC?

21. A balloon inflated in a room at 24°C has a volume of 4.00 L. The balloon is then heated to a temperature of 58°C. What is the new volume if the pressure remains constant?

22. Aerosol cans carry labels warning not to incinerate (burn) the cans or store them above a certain temperature. This problem will show why it is dangerous to dispose of aerosol cans in a fire. The gas in a used aerosol can is at a pressure of 103 kPa at 25°C. If the can is thrown onto a fire, what will the pressure be when the temperature reaches 928°C? 

